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 ONR-003  

CERTIFICATE IN WATER HARVESTING  

AND MANAGEMENT (CWHM) 

Term-End Examination 

June, 2022 

 

ONR-003 : WATER HARVESTING,  

CONSERVATION AND UTILIZATION 

Time : 3 hours                            Maximum Marks : 75 

Note :   Attempt any five questions. All questions carry 

equal marks. Use of calculator is permitted. 

 

1. (a) What is water harvesting ? Discuss its 

importance for human survival and crop 

production. 3+5 

(b) Define in-situ water harvesting. Discuss in 

detail any two in-situ water harvesting 

techniques. 2+5 

2. (a) Enlist different methods of lining of ponds. 

What is plastic lining ? Write its 

advantages. 3+2+2 

(b) What is rooftop rainwater harvesting ? 

Explain its importance in urban areas. 4+4 
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3. (a) Discuss in detail the various steps of 

designing a water storage pond. 8 

(b) Classify water storage tanks based on 

shape, size and the material of construction. 7 

4. (a) Enlist the various recommended rainwater 

harvesting structures used in central  

semi-arid Vindhyan zone. 5 

(b) How can the water losses be reduced in 

water supply and sanitary fittings ? 5 

(c) Calculate the runoff amount from a 70 ha 

watershed if the rainfall during a rainfall 

event in August 2018 was 200 mm. Assume 

runoff coefficient as 0.4. 5 

5. (a) What is Artifical Groundwater recharge ? 

Describe its need in present scenario. 2+5 

(b) What is Irrigation Scheduling ? Explain its 

importance for better crop production. 3+5 

6. (a) What is Drip Irrigation ? Discuss its 

advantages and limitations. 3+5 

(b) Explain the importance of wastewater 

recycling through industrial eco-parks. 7 

7. (a) What is Earthfill Dam ? Explain different 

types of earthfill dams.  3+5 
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(b) What is Water Conveyance Efficiency ? 

Determine the water conveyance efficiency 

if discharge of 64 litres per second from the 

source was released and 50 litres per second 

was delivered to the field. 2+5 

8. Write short notes on any five of the  

following : 53=15 

(a) Homogenous soil 

(b) Soil profile 

(c) Consumptive use of water 

(d) Contour hedgerow 

(e) Percolation tank 

(f) Sediment deposition 

(g) Irrigation intensity 
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 Amo.EZ.Ama.-003  

Ob g§M`Z  Ed§ à~§YZ _| à_mU-nÌ  
(gr.S>ãë`y.EM.E_.) 

gÌm§V narjm 

OyZ,  2022 

 

Amo.EZ.Ama.-003 : Ob g§M`Z, g§ajU Am¡a Cn`moJ 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 75 

ZmoQ> :  {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g_mZ 

h¢ & H¡$ëHw$boQ>a Ho$ à`moJ H$s AZw_{V h¡ & 

 

1. (H$) Ob g§J«hU Š`m h¡ ? _Zwî` Ho$ Or{dV ahZo Am¡a 

µ\$gbmoËnmXZ Ho$ {bE BgHo$ _hÎd H$s MMm© H$s{OE & 3+5 

(I) ñd-ñWmZo  Ob g§J«hU H$mo n[a^m{fV H$s{OE & {H$Ýht 

Xmo ñd-ñWmZo  Ob g§J«hU VH$ZrH$m| H$s {dñVma go 

MMm© H$s{OE & 2+5 

2. (H$) Vmbm~m| Ho$ AñVaU H$s {d{^Þ {d{Y`m| H$s gyMr 

V¡`ma H$s{OE & ßbmpñQ>H$ AñVaU Š`m h¡ ? BgHo$ 

bm^ ^r {b{IE & 3+2+2 

(I) N>V na dfm©Ob H$m g§J«hU Š`m h¡ ? ehar joÌm| _| 

BgHo$ _hÎd H$s ì`m»`m H$s{OE & 4+4 
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3. (H$) Ob ^§S>maU Q>¢H$ H$mo {S>µOmBZ H$aZo go g§~§{YV {d{^Þ 
MaUm| H$s {dñVma go MMm© H$s{OE & 8 

(I) AmH¥${V, AmH$ma VWm {Z_m©U gm_J«r Ho$ AmYma na Ob 
^§S>maU Q>¢H$m| H$mo dJuH¥$V H$s{OE & 7 

4. (H$) H|$Ðr` AY©-ewîH$ qdÜ` joÌ _| Cn`moJ Ho$ {bE 
AZwe§{gV dfm©Ob g§J«hU g§~§Yr {d{^Þ g§aMZmAm| 
H$s gyMr V¡`ma H$s{OE & 5 

(I) Ob Amny{V© Am¡a ñdmñÏ` g§~§Yr §̀Ìm| go Ob hm{Z _| 
{H$g àH$ma H$_r H$s Om gH$Vr h¡ ? 5 

(J) `{X AJñV 2018 _| {H$gr EH$ dfm© Ho$ Xm¡amZ  
200 {_._r. dfm© hmoVr h¡ Vmo 70 hoŠQ>o`a Obg§^a joÌ 
go hmoZo dmbo Andmh (aZAm°\$) H$s _mÌm H$s JUZm 
H$s{OE & _mZ br{OE Andmh JwUm§H$ 0.4 h¡ & 5 

5. (H$) H¥${Ì_ ^m¡_-Ob nwZ^©aU Š`m h¡ ? dV©_mZ n[aàoú` _| 
BgH$s Amdí`H$Vm H$m dU©Z H$s{OE & 2+5 

(I) qgMmB© AZwgyMrH$aU Š`m h¡ ? ~ohVa µ\$gbmoËnmXZ Ho$ 
{bE BgHo$ _hÎd H$s ì`m»`m H$s{OE & 3+5 

6. (H$) {S´>n qgMmB© Š`m h¡ ? BgHo$ bm^ Am¡a H${_`m| H$s 
MMm© H$s{OE & 3+5 

(I) Am¡Úmo{JH$ BH$mo-nmH©$ Ûmam An{eï> Ob nwZ:MH«$U Ho$ 
_hÎd H$s ì`m»`m H$s{OE & 7 

7. (H$) _¥Xm go ^ao ~m±Y Š`m h¢ ? _¥Xm go ^ao ~m±Ym| Ho$ {d{^Þ 
àH$mam| H$s ì`m»`m H$s{OE & 3+5 
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(I) Ob n[adhZ XjVm Š`m h¡ ? Ob n[adhZ XjVm H$s 
JUZm H$s{OE `{X òmoV go 64 brQ>a à{V goH§$S> H$m 
òmd {H$`m J`m Am¡a 50 brQ>a à{V goH§$S> IoV H$mo 
{X`m J`m & 2+5 

8. {ZåZ{b{IV _| go {H$Ýht nm±M  na g§{jßV {Q>ßn{U`m±>  

{b{IE : 53=15 

(H$) g_m§J _¥Xm 

(I) _¥Xm àmo\$mBb 

(J) Ob H$m Cn^moJmË_H$ Cn`moJ 

(K) H§$Qy>a ~m‹S> n§{º$ 

(L>) [agmd Q>¢H$ 

(M) VbN>Q> O_m hmoZm 

(N>) qgMmB© JhZVm 


